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1.7

1.8

1.9

1.10

1.11

1.11.1

)
23.333 23.333 23.333 —_—
-26.565 ( )
-26.565 ( )
(kN/m?)
0.000 0.000
CB  (kN/m*) 0.000
tang - 0.700

FORUMS8




1.11.2

1.12

1.12.1

1.12.2
o

D

c (kN/m?) 100.000
0 () 35.00
(a B)
A -0.333
v -0.333
u -0.333
(m) (kN/m°)
D+ D"« Y : Y -
( 1 1.200 0.000 18.0000 18.0000
D¢ (m)
D"
Y1 (kN/m*)
Y 2 (kN/m*)
(kN/n)
1.500 1.500 3.000 1000.000
(N/mm?)
0 0w Ta
1.00 4.500 0.230 0.330

(m

FORUMS8



2
2.1
@
D
1
3
2)
™ Vi Xi Vi Yi
% % Vi) % v i Xi i vi
1 5.120x 8.000x  1.000 40.960 2.560 4.000 | 104.858 | 163.840
2 -1/2x 4.000x 8.000x 1.000 -16.000 1.333 5.333 | -21.333 | -85.333
3 -1/2x 4.000x 8.000x 1.000 -16.000 3.787 2.667 | -60.587 | -42.667
> 8.960 22.938 35.840
XG > Vi Xi > Vi 22.938 8.960 2.560 (m)
YG > Vi Vi > Vi 35.840 8.960 4.000 (m)
2.2
@
[1]
Wy v X
(kN) (m
23.000 x 8.960 206.080 2.560
2.3
[1] C D
Xp 1.120 m
yp 0.000 m
H 8.000 m
a -26.565 °
ys 20.000 kN/m?
® 35.00 °
o 2 3¢ 23.333 °

FORUMS8



wi 0.00 ° 80.00 °
(w) w ®
hw 0.000 m
W(KN)
w(®) P (kN)
43.80 | 596.456 0.000 0.000 | 596.456 93.298
43.90 589.628 0.000 0.000 589.628 93.304
44.00 | 582.889 0.000 0.000 | 582.889 93.301
w 43.90° P 93.304 kN
Wesin(w—¢)
P1 =
costo—¢dp—a—20)
589. 628 X sin(43.90° —35.00° )
cos(43.90° —35.00° —-26.565° —23.333° )
93.304 kN
sin(e —w) *cos(a+ B)
dl =

sine *cosa *sinf{w— 8)
sin(60.00° —43.900° ) Xcos(26.565° +29.057° )

X 8. 000
sin60. 00° Xcos26.565° Xsin(43.900° —29.057° )
6.313 m
€ ()

w (D)
a ¢
B ()
d (m) d 2.000
Xp 1.120 m
yp 0.000 m
H 8.000 m
a -26.565 °
ys 20.000 kN/m®
(0] 35.00 °
o 2 30 23.333 °

FORUMS8



(w) w D)
hw 0.000 m
W(KN)
w(®) P (kN)
60.00 52.636 0.000 0.000 52.636 25.248
w 60.00° P 25.248 kN
Wesin(o—¢)
P2 =

cos(om—p—a—20)
52.636 X sin (60. 00° —35.00° )

cos (60. 00° —35,00° —-26.565° —23.333° )
25.248 kN

d—d;\’
p = 1—( ] ) (P1—P2) +P2
1

2.000—6.313\"
1——(————————————— X ( 93.304— 25.248)+ 25.248

Ph

Pv

y

6.313
74.945 kN

d (m
d1 (m

P cos(a &) 74.945x cos(-26.565°  23.333° )

P sin(a 3) 74.945x sin(-26.565°  23.333° )

Xp Ho tana 1.120 2.667x tan-26.565° 2.453 m
yp Ho 0.000 2.667 2.667 m

74.826 kN

-4.225 kN

FORUMS8
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(kN.m)
Ne (kN) Hi (kN) X (m) Yo M Ne X M HoYe
206.080 0.000 2.560 0.000 527.565 0.000
-4.225 74.826 2.453 2.667 -10.365 199.536
201.855 74.826 517.200 199.536
N, H, M,
(kN) (kN) (kN.m)
1) 201.855 74.826 317.664

FORUMS8



@
Ne N, (kN)
He  Ho (kN)
Mc  No By 2.0 M, (kN.m)
B; 1.120 (m
|
N He M.
(kN) (kN) (kN-m)
( D 201.855 74.826 -204.625
n (10.000m)
N He M.
(kN) (kN) (KN.m)
( D 2018.550 748.260 |  -2046.247

FORUMS8
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2.5
2.5.1
_ |ur
Mo
Mr
Mo
Mr Mo
(kN.m) GN-m - E o
1 517.200 199.536 2.592 1.500
2.5.2
F= 2V u +CB *B
’ *H
2V (kN)
> H (kN)
M , b 0.700
Ce (kN/m?), Cs 0.000
B (m), B 1.120
T V(kN) < H(KN) F Fe
1 201.855 74.826 1.888 1.500

FORUMS8
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2.5.3
C D
Mo— £ BV
BEEOMBRK S Qt = o ¢ °
B-as@O—a)'(L—E)+L-(P%%)
v — Mo—0. 52B + Vo B 317.664—0.52X 1.120X 201,855
0. 48B + cos (90— &) 40, 917L 1. 120 X cos (90— 26. 565) +0. 917 X 8. 944
= 23,711 (kN)
Qv Vo Qt cos(90 a) 201.855  23.711x cos(90 26.565)
191.251 (kN)
oh Ho Qt sin(?0 a) 74.826  23.711x sin(90 26.565)
96.034 (kN)
2. Qt 2% 23.711
BEEOWBNIIE o 0oL 0. 25X 8. 944
21.208 (KN/m?)
Ho
Vo
Mo
L
B (m
: d B £ d B
n I. | n I, 1
g 0.52 n 0.25
o
20v (3 & —1) 2% 191, 251 X (3X0.520—1)
qmax =
B 1.120
191.251  1000.000 kN/m’... OK
2Qv(2—3 &) 9% 191, 251 X (2—3 X 0. 520)

gmin =

B 1.120
150.269 kN/m?

FORUMS8
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@
(m (kKN/m)
D D", Vo Y g=y Dr (kKN/m%)
( 1) 1.200 0.000 18.000 18.000 21.600
1
@w= « * k *c*N S+« -q-Nq-Sq—i-E- vi* B *B.*N, S,

o (kN/m?)
c (kN/m?) ¢ 100.000
(kN/m») g Y 2Ds
Yi Ve (kN/m°)
. (m B. B 2e
(m B 1.120
es (m)
0 = E . qvi— vz
6 qntan
Qu (kN/m?)
Qe (kN/m?)
D¢ (m)
a B a 1 0.38. L B 1 0.4B. L
B. L 1 ,Be L 1
L (m L  10.000
K K 1 0.3D"¢ B.
D¢

(m

FORUMS8
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Ne Ng N,
NC = cos d) sino 1 (GZa’tandv_l) +62a’tan¢>
X cos({w—¢) sin ¢
Nq — 1+Slnd) eZa’tandJ
X
N = cos(w—¢) {sin(l—i) (Ibsing ) et e — sinwcoswcos ¢ }
Xcos ¢ 4 2 cos(w—¢)
gl tnd {sin(co +a’)+3tandpcos(ow+ o’ )} —sinw —3tan ¢ cosw
B 9tan’ ¢ +1
X = cos ¢ (cosw +tan 0 sinw)
cos(w— ¢
,_37m o
o = 1 + 5 ®
¢ () o 35.00
w ar” ()
tanf , tan@ Qh Qv
Qh (kN) 0h Hb Qt cos
Qv (kN) Qv v Qt sin
V (kN)
Hb (kN)
Qt (kN)
() 26.565
Sc S¢S S¢ 0.465
Se (€)' S¢ @) S X
v M
-0.333 v -0.333 -0.333
c C Co 1 c’ 10
Co 10 (kN/m?)
9 a9 g G 1 g 10
Qo 10 (kN/m?)
B" B B. B, 1 B”
By 1.0 (m)
qu qVZ eB
(KN/n) (KN/m) (n) B. (m)
1 150.269 191.251 -0.022 1.164
Hb v
(kN) (kN) Qt(kN) Qh(kN) Qv(kN)
1 74.826 201.855 23.711 96.034 191.251
tan6 W a”
v | () ) N W
1 0.502 99.200 53.300 | 13.763 | 9.161 | 6.198

FORUMS8
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Ja qa N
Ja
n
K o g
a B S, S, (KN/m?) (KN/m?)
( 1 1.032 | 0.957 | 1.000 | 0.774| 0.951 871.961 290.654
®
Qa Ae qa
A m)
Oa (kN/m)
0a \ Qa
A () (kN/m?) (kN) (kN)
( 1) 1.164 290.654 191.251 338.321

FORUMS8
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3
3.1
3.1.1
@
2
1
3
@
(m)
% % Vi(m) g vi Vi Xi Vi Yi
1 5.120x 8.000x  1.000 40.960 | 2.560 | 4.000 | 104.858 | 163.840
2 | -1/2x 4.000x 8.000x 1.000 -16.000 | 1.333 | 5.333 | -21.328 | -85.328
3| -1/2x 4.000x 8.000x 1.000 -16.000 | 3.787 | 2.667 | -60.592 | -42.672
> 8.960 | — 22.938 35.840
XG > Vi Xi > Vi 22.938 8.960 2.560 (m)
YG > Vi Vi > Vi 35.840 8.960 4.000 (m)
3.1.2
@
[11
W s v
(kN) X (m)
( ) 23.000 x 8.960 206.080 -2.000
3.1.3
[11 ¢ D
Xp 0.560 m
yp 0.000 m
H 8.000 m
a -26.565 °
S 20.000 kN/m®
® 35.000 °

FORUMS8
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5 2 30 23.333 °
Wi 0.00 ° 80.00 °
(w) w) ®
hw  0.000 m
W(KN)
w(®) P (kN)
43.80 | 596.456 0.000 0.000 | 596.456 93.298
43.90 | 589.628 0.000 0.000 | 589.628 93.304
44.00 | 582.889 0.000 0.000 | 582.889 93.301
® 43.90° P 93.304 kN
Wesin(o—¢)
P1 =

cos(om—¢dp—a—20)

589. 628 X sin(43. 90° —35.00° )

cos(43.90° —35.00° —-26.565° —23.333° )

93.304 kN

sin(e —w) *cos(a+8)

dl =

sine *cosa *sinf{w— 8)

sin(60. 00° —43.900° ) Xcos(26.565° +29.057° )

= X 8. 000
sin60. 00° Xcos26.565° Xsin(43.900° —29.057° )
= 6.313 m
€ ()
w ¢
a (D)
B ()
d (m) d 2.000
Xp 0.560 m
yp 0.000 m
H 8.000 m
a -26.565 °
S 20.000 kN/m®
(0] 35.000 °
e} 2 30 23.333 °

FORUMS8
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(w) w D)
hw 0.000 m
W(KN)
w(®) P (kN)
60.00 52.636 0.000 0.000 52.636 25.248
w 60.00° P 25.248 kN
Wesin(o—¢)

P2 =

cos(om—p—a—20)
52.636 X sin (60. 00° —35.00° )

cos (60. 00° —35,00° —-26.565° —23.333° )
25.248 kN

d—d;\’
p = 1—( ] ) (P1—P2) +P2
1

2.000—6.313\"
= 1__(____8_515____ X ( 93.304— 25.248)+ 25.248

= 74.945 kN

d (m
d1 (m

Ph P cos(a &) 74.945x cos(-26.565°  23.333° )

Pv P sin(a 9d) 74.945% sin(-26.565°  23.333° )

X Ho tana xp 2.667x tan-26.565° 0.560 -1.894 m
y yp Ho 0.000 2.667 2.667 m

74.826 kN

-4.225 kN

FORUMS8
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3.1.4

1.
Q, = _(Qt+Qtz)
2
g+—q
diz = di— % <1,
_ 12 2qt+qtz
G, = — + —
3 Qt+qtz
1.
1.
Qtz = _<Qt+Qtz)
2
1,—1,
diz — 9 * gy
12 2qt+qtz
G, = — + ——
3 Qt+qtz
1.
Q. = Q
itz OO
1
o, = 12——2
3

FORUMS8
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Qe (kN)
Je. 1z (kN/m?)
a, (m
I, z m, L. 8.944
z m, z 8.000
Iz (m)
Qe (kN)
qe 1z (kN/m?)
Ju (kN/m?)
I, e O Qu a .
(m (kN/m?) (kN/m?) (kN) (m
( 1) 2.236 21.208 0.000 23.711 8.199
Ne Q.. sina
S, Qtz cosa
My, Q. (bz/2 sina a.)
N (kN)
Se (kN)
Me. (kN.m)
bz (m), bz 1.120
a ( ), a 26.565
N(z Stz MtZ
(kN) (kN) (kN.m)
( D -10.604 21.208 200.341
3.1.5
[1] «C D
~—=7
// /
/ //
// //
/ /
// //
// //
/ /
/ /
/ /
/ /
/ /
// U
// /‘
// ///
/ /
/ /
/ /
;I/
N H: Xi Yi M Mat+My
(kN) (kN) (m) (m) (kN.m)
206.080 0.000 -2.000 0.000 -412.160
-4.225 74.826 -1.894 2.667 207.563
-10.604 21.208 0.000 8.199 200.341

FORUMS8
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N Hi Xi Yi M MatMy
(kN) (kN) (m (m (kN.m)
191.251 96.034 -4.256
Xi Yi
3.1.6
@
N M
gc = —+x—
AW
oC (N/mmz)
N N)
A (mm*) A 1120000.000
M (N_mm)
W (mm?®) W 209066.7x 10°
M N (N/mm?) (N/mm?)
(kN.m) (kN)
( 1 -4.256 | 191.251 0.191 4.500 E— 0.230
@
Sh
Tn — = T a1
b-d
T, (N/mm?)
Sk N)
d (mm) d 1120.000
b (mm)
Ta (N/mm?)
(N/mm?)
Su(kN) . .
( 1 96.034 0.086 0.330

FORUMS8
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